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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
| sentence. Then mark the correct choice on your answer sheet. i

1-  The book was -------—- by a panel of experts, working in conjunction with the publisher.
1) revealed 2) compiled 3) intervened 4) attributed
2-  In Canada, drug users belong to high-risk insurance ---------- : |
1) entities 2) features 3) categories 4) structures
3-  The victim was able to give the police an -----—- - description of her attacker.
1) accurate 2) ultimate 3) identical 4) equivalent
4- The government passed a law to promote the ---—------ of blacks into white South African
society.
1) integration 2) foundation 3) coordination 4) adaptation
5- Small businesses often have great difficulty in --—-—- credit from banks.
1) detecting 2) obtaining 3) pursuing 4) depositing
6- Feminists say that the book was written from a male ~------ ;
- 1) objective 2) inspection 3) perspective 4) presumption
7-  Violence is just one of the many problems --------— in city life.
1) explicit 2) empirical 3) available 4) inherent
8- Legal requirements state that working hours must not -- 42 hours a week.
1) assign 2) exceed 3) utilize 4) undertake
9. The Highways Department is responsible for the construction and ----——-- of bridges and
roads.
1) equipment 2) adjustment 3) manipulation 4) maintenance
10- Maxwell’s responsibilities ----—----- yours, so you will be sharing some of the work.
1) overlap 2) affect 3) identify 4) coincide
| PART B: Grammar
Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
| best fits each space. Then mark the correct choice on your answer sheet.
| S ————" S
Since water is the basis of life, (11) ---------- the greater part of the tissues of all living things, the
crucial problem of desert animals is to survive in a world (12) —--------- sources of flowing water are
rare. And since man’s inexorable necessity (13) ---------- large quantities of water at frequent
intervals, (14) ---------- comprehend that many creatures of the desert pass their entire lives (15) -—--
------ 3 single drop.
11- 1) composes 2) composimg 3) it composes 4) that compesing
12- 1) which 2) that 3) there 4) where ‘
13- 1)1sto absorb 2) of absorbing 3) that 15 to absorb 4) 1s absorbing
14- 1) scarcely he can 2) he scarce can 3) he can scarcely 4) scarce can he
15- 1) for 2) from 3) upon 4y without



16-

17-

18-

21-

22-

23-

24-

Y CE- 1.0

(TYR uS) saass ol
C: Read the questions carefully and fill in the blank with the best word or phrase.

Ing e process, 8W = —PdV , where, dV is an incremental change in Specific volume due to 2
displacement of the boundary of the system.
1) adiabatic 2) i1sentropic 3) reversible 4) irreversible

The presence of the viscous flow near the surface modifies the inviscid flow field and may produce a
significant drag force called ---—--- :

1) induced drag 2) form drag 3) interference drag 4) skin friction drag

The burner in a jet engine is usually approximated as having --------- - combustion, because no heat
transfer is assumed at the boundaries.

1) adiabetic 2) 1sentropic 3) constant pressure 4) constant property

The major loss mechanisms in a nozzle are usually identified with the -----—-- at the exit caused by

over, or under expansion.
1) vorticitiy imbalance ~ 2) temperature imbalance 3) pressure imbalance ~ 4) Mach number imbalance

The maximum lift for an airfoil increases as the —---—--- increases.
1) vorticity 2) pressure gradient
3) maximum speed on the airfoil 4) maximum thickness of the airfoil

Part D: Reading Comprehension

Directions: Read the following two passages and choose the best choice (1), (2), (3), or (4). Then
mark in on your answer sheet,

Passage 1:

Tailplanes are usually more sensitive to icing than the wing because they are
smaller. The danger of having an iced tailplane is that it could stall, leaving the
aircraft with no pitch control. This is particularly important during approach and
landing because of the increased pitch control demand on the tailplane due to the
use of flaps. Flaps increase the lift coefficient, but they also increase the nose-down
pitching moment, thus requiring an increased download from the tail. A tailplane
stall will result in an uncontrollable pitch down, which may result in a crash. Such
was the case of a Vickers Viscount that crashed in Stockholm in January 1977.
If icing 1s encountered in-flight and there is no means of removing the ice on the
tailplane, the pilot should select a lesser amount of flap and land a little faster.

One can infer that smaller surfaces are more sensitive:

1) all the time 2) 1n the presence of ice  3) occasionally 4} in the absence of ice
Tail plane refers to:

1) vertical tail 2) horizontal tail

3) combinations of horizontal and vertical tail 4) none of the above

During the landing phase, the tail plane is expected to create:

1) nose up movement 2) nose down movement

3) keep the nose attitude constant 4) prevent any increase in the lift coefficent
Icing conditions happens:

1) in January at all airports 2) in Stockholm all the times

3) in Stockholm and in Januaryv only 4) anywhere the required condition prevails
Flaps help pilots to land:

1) at a slower speed 2) during icing conditions

3) at a faster speed 4) and remove the ice on tail plane
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Passage II:

Under takeoff conditions, the momentum drag of the air-
flow through the engine is negligible, so that the gross
thrust can be considered to be equal to the net thrust. If
afterburning is selected, an increase in takeoff thrust on the
order of 30 percent is possible with the pure jet engine and
considerably more with the bypass engine. This-augmenta-
tion of basic thrust is of greater advantage for certain spe-
cific operating requirements. Under flight conditions, how-
ever, this advantage is even greater, since the momentum
drag is the same with or without afterburning and, due to
the ram effect, better utilization is made of every pound of
air flowing through the engine,

A good topic for the above passage is:

1) afterburning

2) momentum drag 3) take off conditions

Momentum drag is:

1) lower during take off than flight
3) the same during take off and flight

Augmentation referes to:

1) operational requirements

(YR 85) oamaii 5b)

2) bypass ratio in engines

4) airflow through engine

2) higher during take off than flight
4) impossible to substantiate at different conditions

3) after burning capability 4) pure jet engine characteristics
After burning: _
1) should always be used 2) should be used only during take off

3) is at the discretion of the pilot

Ram effect is a characteristics of:

1) landing

2) climb 3) take off

4) should be used when 30 percent gain is possible

4) flight condition
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